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Note : This paper contains FIFTY (80) multiple-choice/Assertion and
Reasoning/Matching questions, each question carrying two (2) marks.
Attempt ALL the questions.
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1. ‘Authenticity’ is the principle of:
. (A) Realism
| (B) Naturalism
! | (C) Existentialism
‘ (D) Idealism
2. ‘Constant change’ is the cardinal
principle of :
(A) Naturalism
| (B) Realism
(C) Existentialism
(D) Pragmatism
3. Theory of judgement/knowledge of
| ' idealism is :
(A) Correspondence theory of
knowledge
(B) Utility theory of knowledge

(C) Coherence theory of
knowledge

(D) None of the above
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4. Ontology is the theory of :
(A) Knowledge
(B) Values
(C) Reality
(D) Logic
5. Axiology is fﬁe theory of :
(A) Knowledge
(ﬁ) Values
(C) Reality
: (D) Logic
: 6. Aims of education are drawn
|

from :
(A) Metaphysics
(B) Ontology -
(C) Epistemology
(D) Axiology
7. ‘Emile’ is the work of :
(A) John Locke
(B) Aristotle
©) Rouvaseau

(D) Montessori
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10.

11.

Shri Aurobindo’§ concept of

education is :

(A) Basic education

(B) Integral education

(C) Liberationist education
(D) Austere education
‘Ashtang Marg’ was the basis of
the curriculum of :

(A) Jain education

(B) Vedic education

(C) Buddhist education
(D) Sikh education

‘Upanayan’ was the Samskar of :
(A) Buddhist education

(B) VVedic education

(C) Jain ed1’1cation

(D) Sikh educati_on

‘Pabajja’ was the admission

ceremony of :

(A) Jain education

(B) Buddhist education
(C)’ Vedic education

(D) Islamic education
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12.

13.

14,

15.

‘Project method’ is advocated bj:
(A) Marxism

(B) Realism

(C) Pragmatism

(D) Idealism

‘Man making’ is the aim of

education of :

(A) Shri Aurobindo

(B) Mahatma Gandhi
(C) Rabindranath Tagore

(D) Swami Vivekananda
The gap between material and
non-material culture is explained

through the concept of :
(A) Cultural conflict
(B) Cultural lag

(C) Cultural mosaic

(D) None of the above

Role of education vis-a-vis culture
is :

(A) Preservation

(B) Transmission

(C) Transformation

(D) All of the above
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16. Social change means :

A
(B)
(C)

(D)

Change in the life style of an
individual
Change in the physical
facilities available in the

society

Change in the habits of an

individual

Change in the social

institutions and the

interrelations observed
_therein

17. Education is political in the sense

that it :

(A) Propagates ideas of ruling
party |
Propagates ideas of

(B)
©

(D)

opposition party
Propagates Constitutional
ideas

Propagates market ideals

18. Which paI:t of Indian Constitution

acts as normative framework to

education aims ?

(A)

(B)

(&)
(D)
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Part IV of the Constitution
(Directive Principles)

Part III of the Constitution
(Fundamental Rights)
Preamble

None of the above |
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19.

20.

21.

22.

Providing equal opportunities of
schooling means :
(A) establishing common school

system

(B) establishing separate schools '

for disadvantaged
(C) encouraging public-private
partnership in schooling
(D) None of the above

Aculturation means the

socialization of the child into :
(A) Other cultures

(B) One’s own culture

(C) Multi-culture

(D) Hybrid culture

Concept of ‘cultural lag’ was

developed by :

(A) F. Ogburn
(B) E. B. Tyler
(C) Max Weber
(D) Henry Morgan

The term ‘social stratification’

refers to :

(A) unstructured social

inequality
(B) unstructured social. equality
(C) structured social inequality

(D) structured social equality
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23.

24.

25.

26.

Democracy means :

(A) way of living and ruling

(B) way of thinking and ruling

(C) way of living and thinking

(D) way of ruling, living and
thinking .

Article 28 of Indian Constitution

is about :

(A) Minority education

(B) Women education

©) Language education

(D) Tribal education

Article 350 of Indian Constitution

refers to :

(A) Right to minority education

(B) Right to education in mother

tongué
(C) Right to learn Hindi
(D) Right to equal opportunity of

education

According to generally accepted‘

classification of IQ, the superiors

are those whose IQ range is :
(A) 110-119

(B) 120-129

(C) 130-139

(D) 140 and above
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27. The pseudo maturity stage of life
is :
(A) Infancy
(B) Childhood
(C) Adolescent
(D) Adulthood

28. The outstanding functional

psychologist in education during
the first quarter of 20th century

was :

(A) Thorndike

(B) William James
(C) Terman |

(D) Alexander Brian

29. The father of measurement of

intelligence is :
(A) Spearman
(B) Guilford
(C) Alfred Binet
(D) Thurstone

30. Who has contributed mainly to

connectionism ?
(A) Hull

(B) Skinner
(C) Pavlov

(D) Thorndike
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31. Which of the following is a correct 31, oM Siatedl flvial m} A 4i]

order of learning language skills ? sal $H WAl B ?
(A) listening-speaking-reading-
(A) AdR—5UA—AUAA—-AA
writing
9] —¢ — QUi
(B) listening-reading-writing- (B) Bl —Aurt—5drt

speaking (C) AAA—AVIA—AUAA—5Yl
© listening-writing-reading- (D) AR —$AA—Quit—AUAA
speaking ) N . ,
032, (Al g sld UR ey wy
(D) listening-speaking-writing-
8 ?
reading
32. Learning takes place when there (A) 063&‘“(1
is : (B) Guw-ll
(4) need ©) A
(B) drive N
(D) GUAS =18y
(C) motive

33. ~(A-unidl sutni vy gl
(D) all the above three

: ?

33. Which of the following had insight A 9 !
- learning ? | (A) wadia-l idQ]
(A) Pavlov's dog (B) ¥l s64dR -

(B) Skinner’s pi A \ |
nner’s pigeon (C) Sled+ll AY HiMd

(C) Kohler’s Ape N )
(D) dicu-td (uy
(D) Watson’s Baby

Edu-II ’ 11 [P.T.O.]




34. Under what conditions will goal
setting increase motivation and

performance ?

(A) When the goals are

challenging and specific, yet
. attainable
(B) When individuals are
commited to goals

(C) When individuals receive

feedback on their progress
(D) All of the above

35. Which of the following is not

related with the concept of

-

personality ?
(A) behaviour
(B) thoughts
(C) emotions
(D) none of the above

36. Who first outlined the theory of

‘anxiety to understand the

personality ?
(A) Froebel
(B) Freud

(C) Gutman
(D) Guilford
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37.

39.

Learning is

“association” is the cardinal

principle of :
(A) Constructivism
(B) Cognitivism

(C) Behaviourism

(D) None of the above 38.

External validity of a research is:
(A) Validity of research findings
(B) Validity of findings to derive

generalization

(C)‘ Validity’of a research tool

(D) Validity of research process  39.

Cluster sampling is one in which :
(A) Individual is selected from
each sub-group

(B) One half of the group is
selected

(C) All individuals in identified
group are selected

(D) Whole population is selected

Standard deviation of 95, 90, 85,
80, 75, 70, 65, 60, 55 is :

(A) 166.67

(B) 16.667

(C) 129

(D) 12.91

40.
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41.

42,

Mahesh ranked 27th in a class of
367. His percentile rank is :
(A) 39

(B) 3.9

(C) 93

(D) 9.3

“There will be no significant
difference. in the mean
achievement of high and low
students.” This
hypothesis is known as :

(A) null

(B) directional

(C) interrogative

emotional

(D) none of the above .

Which of the following is the

primary source of data ?

(A) personal records

(B) official records

(C) oral testimonies of traditions
and customs

(D) all of the above

Which of the following is a

measure of relative position ?

(A) standard deviation

(B) percentile rank

(C) arithmetic mean

(D) quartile deviation

Which of the following is the

lowest level of significance ?

(A) 0.01

(B) 0.20

(C) 0.05

(D) 0.001
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47.

49,

In case of three independent
variables the number of
interaction effects will be :

(A) 3

B) 4

(C) 5

(D) 6

Which research design has the

weakest internal validity ?

(A) Single group post-test only
(B) Single group pre-test post-
test ’

(C) Pre-test post-test control

group

- (D) Post-test only control group

Which of the following is non-
random sampling ?

(A) Cluster

(B) Systematic

(C) Convenient

(D) Stratified

The degrees of freedom for a two-

dimensional chi-square are
determined by :

(A) c1

®B) r1

©€) 1) (c-D)

D) r-c-1

Standard deviation of a sample is
12 and the sample size is 100. The
standard error of mean is :

(A) 121

B) 1.21

(©) 0.121

(D) 121
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ROUGH WORK
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